ok Al 7H WA Aok e 2 ol AU

2+ (32 -19)
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88 —5x 12 4 46

= 88 — 60 + 46
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A7 ol= A lA 3200 9] F2H4 1 83 4500 F#e] 9103
1 2 AR 10000 ¥ WU 17407 Hopok & ALF=2
AupQlA] FSHA 2.,

> g ke
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10. o= F4NA 71A & ti7F 1 Aol @ Evto] 3 tiE 2. °]
71A 5 "i7F L EHEo] 90 HE /st B Aol A5

—_

> E: Az

> ®et: 6 AZF

90 + (3% 5) =90+ 15 =6 (A7)
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200 -3 x{(19+5)+2-7)
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=200-3%(24+2-7)
=200-3x(12-7)
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14. S ARG AL (S }E A ARgate] shtel
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7+ 8 =15, 15 x 59 = 885,
885 — 57 = 828, 828 + 46 = 18

@ (74 (8x59) =57} + 46 = 18
@)(7+8) x 59— 57) = 46 = 18
® {7+8x (59 —57)} + 46 = 18
@ 74+ {8x (59— 57)) +46 = 18

® 7+8x{(59-57) + 46} = 18

AL 4O A4 A= AT UeAl-S A ALbsta
QA -2 ol AlLFRIe

ojuf Z27t oW AT E 7 WA ALttt

280 (VB WA AL SEE { ) o= AL
A 94 HAlE Ponz QA ols AT Qto] Q& Zoloh
o2 FAlS okl WAl H ot WAo] M| qlom = Al
WAL FSHS gk Q& Aol

wtA A4S BhEo] B

{(7+8)x 59— 57} + 46 = 18 7} "},
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5x{(6+14)x 2 — 10} + 15

® 163 @ 165 ® 160 @ 157

® 168

() { Prd=sAdAX=( )t HAA
{ ISt A4t
5x{(6+14) x2— 10} + 15
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17. vae AAsA L.

{125 -6x (7—-3) +3-36}+ (32-14) + (2% 3)
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A A EFALNAE BT RS WA Ads
ST} Al o] Ateit.
o] B57} glow BEE Fhg WA A
ABE ()2 M BA AL
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{125 -6x (7-3) +3-36}+ (32—-14) + (2x 3)
={125-6x4+3-36}+18+6
={125-8-36}+3

= {117 - 36} + 3

=81+3

=84
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19. w77k 4 A SlE AEA 24 1 g A4 AR ol
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(AA] vH7 9] 4=)= 4 x 24 = 96(7)
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(FrobglEntT)= 96 - 18 = 78(7H)
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